
 

 

1. What is the correct sequence of the 

paragraph? (5점) 

(A) 

He finally lost all of his hair. He was depressed 

because he had no hair. Manuel’s brother and 

three other relatives visited him in the 

hospital. They had no hair. 

(B) 

Manuel Garcia had stomach cancer. He went 

to the hospital for chemotherapy. 

Chemotherapy is strong medicine. His hair 

began to fall out. 

(C) 

“You shaved your heads!” Manuel said. They 

wanted to look like him. Manuel laughed with 

them and felt better. Now he is not 

depressed. He’s ready for anything. 

 

① (A) - (B) - (C) 

② (B) - (A) - (C) 

③ (B) - (C) - (A) 

④ (C) - (A) - (B) 

⑤ (C) - (B) - (A) 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

[2~3] 다음 글을 읽고 물음에 답하시오. 

 

It was late in the night when my brother and I 

decided to play a trick on our parents. I took 

a large sheet of paper and drew a morning 

scene. We crept into our parents’ bedroom. I 

hung the picture on the window. Meanwhile, 

my brother advanced the time on the alarm 

clock to just ten minutes before seven. (A) We 

went back to our bedroom and waited. (B) My 

parents jumped out of bed. (C) My father 

went to the bathroom, while my mother came 

to our room to wake us. (D) She was surprised 

when she found us awake and laughing. (E) 

My parents were angry and scolded us for 

playing a trick on them. Nowadays they lock 

their bedroom door when they go to bed. 

 

2. Where is the best place to insert the 

following sentence into the passage? (5점) 

Soon the alarm clock rang. 

① (A)   ② (B)   ③ (C)   ④ (D)   ⑤ (E) 

 

 

 

3. 다음 영영 풀이에 해당하는 단어를 위 글에

서 찾아 원형을 쓰시오. (10점, 각 5점) 

 

① to move quietly and slowly:                 

② to make someone stop sleeping:             
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4. 다음 글을 읽고 Ötzi에 대해 대답할 수 없

는 질문은? (5점) 

 

Last Saturday, it was warm and pleasant. My 

classmates and I went to a city museum. We 

visited a new exhibition called “The Iceman.” It 

was very interesting to learn the story of the 

Iceman. In 1991, two students discovered the 

frozen body of a hunter. They named him 

“Ötzi.” Ötzi lived more than five thousand 

years ago. He was very well-preserved. He 

also had a knife with him. Scientists think he 

used the knife to fight and that he probably 

died in battle. 

① 언제 발견되었는가? 

② 어떤 일을 했는가? 

③ 보존 상태는 어떠한가? 

④ 어디에 살았는가? 

⑤ 어떻게 죽었는가? 

 

[5~6] 다음 글을 읽고 물음에 답하시오.  

Alex, Nicole, and Vickie wanted to earn some 

money to buy Christmas presents. “There is 

lots of snow on the ground. Maybe people 

will hire us to shovel the snow on their 

driveways and sidewalks,” said Vickie. The 

three friends went to all the houses and put a 

flier in everyone’s mailbox. First, Mrs. Jones 

hired the kids to shovel snow from her 

driveway. She said, “I have twin baby girls. I 

am too busy to shovel the snow myself.” 

Then, Mrs. Smith hired them. She said, “I am 

very old, and the snow is too heavy for me to 

move.” Then, Mr. Lee hired them. He said, “My 

driveway is too big to shovel all by myself. 

Can you help me?” The kids worked very hard 

shoveling snow. They earned a total of $30. 

Now they could buy wonderful Christmas 

presents for their friends and families. 

5. 위 글의 주인공들은 크리스마스 선물 살 돈

을 어떻게 마련했는가? (5점) 

① 아이들을 돌보았다. 

② 일일 비서가 되었다. 

③ 가게 광고지를 돌렸다. 

④ 노인들의 짐을 들어주었다. 

⑤ 차고 진입로의 눈을 치웠다. 

 

 

6. 이 글의 내용과 일치하지 않는 것은? (7점) 

① The three kids needed money. 

② Vickie got an idea to earn some money. 

③ Mrs. Jones was so busy that she couldn’t 

clean her driveway. 

④ Mrs. Smith has a big driveway to shovel all 

by herself. 

⑤ The three kids earn enough money to buy 

Christmas presents. 

 

 

[7~8] 다음 글을 읽고 물음에 답하시오. 

One day, a traveler lost his way as he crossed 

the desert. The lost traveler found an old 

lantern lying in the sand. He began to rub the 

sand off the lantern. As he rubbed the lantern, 

a genie appeared in a cloud of smoke. He 

said that he would grant the traveler three 

wishes. First, the traveler wished that he would 

find his way out of the desert. Second, he 

wished that he could find his family again. His 

third wish was that (A)he could have three 

more wishes. 

 

7. 밑줄 친 (A)를 통해 알 수 있는 여행자의 

성격을 가장 잘 묘사한 것은? (5점) 

① shy      ② wise      ③ kind 

④ stupid    ⑤ honest  

 

 



8. All of the following are true about the 

traveler EXCEPT: (7점) 

① He lost his way in the desert. 

② He went to the desert to find a lantern. 

③ He met a genie. 

④ He wanted to get out of the desert. 

⑤ He would meet his family. 

 

 

[9~11] 다음 글을 읽고 물음에 답하시오. 

What kinds of pets do you like? Are you for or 

against keeping pets? I think it is a good 

thing. Dogs are good for children because 

they teach children to be responsible. Children 

who have (A)feed/to feed and walk a dog 

learn to be responsible for the life of another 

being. Cats also teach children responsibility. 

And along with ⓐthis, children who own a cat 

(B)learn/learns about independence since cats 

are quick to teach ⓑthis. Rabbits teach 

children about (C)have/having babies because 

they have a lot of babies. Snakes, rats, and 

fish are also good to teach children about 

cleanliness and proper bathing habits. Most 

pets teach children valuable lessons. 

 

9. What is the main topic of the passage? (7점) 

① Benefits of keeping Pets 

② The characteristics of pets 

③ The way to train your pets  

④ The steps of pet adoptions 

⑤ Importance of having lifelong friends  

 

10. 위 글의 밑줄 친 ⓐthis와 ⓑthis가 무엇을 

뜻하는지 각각 영어 한 단어로 쓰시오.  

(10점, 각5점) 

ⓐ this:                          

ⓑ this:                          

11. Choose the correct words for (A), (B) and 

(C). (10점) 

 (A)  (B)  (C) 

① feed - learn - have 

② feed - learns - having 

③ feed - learn - having 

④ to feed - learns - have 

⑤ to feed - learn - having 

 

[12~13] 다음 글을 읽고 물음에 답하시오. 

Some elephants in India will be going to 

camp for a month. Government officials in 

India’s southern state of Tamil Nadu recently 

created an “elephant camp” to give the state’s 

working elephants a vacation. ⓐThousands of 

elephants in India are owned by temples, and 

they work during religious ceremonies and 

festivals. ⓑOthers work to clear forests for 

logging. ⓒGovernment officials realized the 

elephants could use a break after several 

elephants attacked humans, probably because 

they were tired and stressed out. ⓓThe 

tourists can have a great experience with 

many elephants in the camp.  ⓔAt camp, the 

elephants get to rest, eat lots of good food, 

and swim in a river. 

 

12. Which sentence does NOT fit the flow of 

the passage? (5점) 

① ⓐ  ② ⓑ  ③ ⓒ   ④ ⓓ   ⑤ ⓔ 

 

 

 

 

 

 

 

 

 



13. 다음 빈칸에 들어갈 말로 가장 적절한 것

은? (7점) 

An elephant camp was created 

because                                   . 

 

① the animal doctor said so 

② it was difficult to train elephants 

③ some elephants died from disease 

④ several elephants harmed humans  

⑤ an elephant festival was going to held 

 

 

[14~15] 다음 글을 읽고 물음에 답하시오. 

(A) 

Ali’s brother, Cassim, was jealous. When Ali 

explained what had happened, he immediately 

went to the cave. He took some of the gold, 

but he couldn’t get out because he had 

forgotten ⓐthe magic words. The thieves 

found him in the cave and killed him. 

(B) 

They also wanted to kill Ali. They hid in big 

jars which were taken to Ali’s house. However, 

Ali’s clever servant, Murganah, had already 

found out about their plan, so she poured 

boiling oil into the jars to kill the thieves. Ali’s 

life was saved thanks to her. 

(C) 

Ali Baba saw forty thieves in the forest. 

Outside a cave, they said the magic words 

“Open Sesame!” and the cave opened. After 

the thieves left, Ali said the magic words. The 

cave opened and Ali found lots of gold and 

silver inside. He went back home with some of 

it. 

 

14. 밑줄 친 ⓐ가 무엇인지 본문에서 찾아 영

어 두 단어로 쓰시오. (5점) 

                                          . 

15. What is the correct sequence of the 

paragraph? (7점) 

① (A) - (B) - (C) 

② (B) - (A) - (C) 

③ (B) - (C) - (A) 

④ (C) - (A) - (B) 

⑤ (C) - (B) - (A) 

 


